Honors Coordinate Algebra Name

1. Felipe surveyed students at his school. He found that 78 students own a cell phone and 57 of those students cwn
an Ipad. There are 13 students that do not own a cell phone, but own an Ipad. Nine students do not own either device.
a. Construct a two-way table summarlzing the data.
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2. The two-way table shows the number of students
that do or do not do chores at home and whether they
receive an atlowance or not.

a. How many total students do chores? | (% 1 7 Ly
it

b. What is the relative frequency of students that do chores and get an allowance to the number of students that do

chores? Round to the nearest hundredth if necessary. ey
\3/“&, =808 V § .2 Q?

¢. What is the relative frequency of students that do not do chores nor get an aliowance to the total number of
students? Round to the nearest hundredth if necessary
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3. The two-way table below shows the number of students with each hair color and eye color. Make up three
questions. Ong for each._t?'[‘)te of fre?:u‘enmes: Joint, Conditional, and Marginal v;:,{ e Lﬁ_gg gw G

1} Joint -

2} Conditional -

3) Marginal -




4. 80 students each study one Science. The table shows some information about these students
a. Complete the table

Biclogy Chemistry Physics Total
Female 18 e § 44 47
Mate % {4 19 33
Total Al 21 33 80
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.4 d. What is the percentage that the student is female and studies Chemistry?_jy{ .
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e. Place a J-Joint, C-Conditional, or M-Marginal beside b-f to indicate what type of relative frequency the answer is.
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b. State the Outlier Range. T3¢ = L25-91.€722. . -
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c. State the Mean Absolute Deviation MAD. S
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6. The accompanying box piots can be used to compare the annual incomes of three professions.

Based on the box plots which statement is true?
a. The medianincome for nuclear engineers is greater

.~ than the income of all musicians. e E’_‘}n;f[ﬂaf - R
The median income for palice officers and musicians is -E ]
the same. ‘2 gg‘. = |
¢. Al nuclear engineers earn more than all police E
officers. Mustdian b ¥ . .
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d. A musician will eventuzlly earn more than a police “B A N
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7. Explain which Center and S;::reud_\wouldfbe best to represent data if it is skewed?
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8. Charlene is looking at all the 8™ scores from the Math CRCT’s from the state of Georgia. She uses a computer to
calculate the MAD and the result is 28. What can she conclude about the data?



